600 Chapter 5 Systems of Equations and Inequalities
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1. vy > 1 12. 3 =3

i3 L+FE=l 14 P +y =4

15, x2 + y* > 25 16. x> + v > 36

17, (x = 2F + (v + 1y <9

8. W+ + (- DP<16

19. v < 17— 1 200 v < x° Y

I, oy =85 —-9 2 y=ar—1

23. vy > 2! 24, y=3

25. v = loga(v + 1) 26. v = logs(x — 1)

In Exercises 27-62, graph the solution set of each systent of
indicate that the svstent has no solution.

mequalities or

v+ 6y =0 X y =4
y J y -
% {l\' + y=38§ = {_r +y=<6
2v—5vy=10 X =4
29, X A 1 30, 2x )
3¢ — 29 =0 3¢+ 2y > —6
q, g7 = B4 5, 47 = ¥
1_\'< v + 6 y<x-—4
: Yy < . i ;
1a, x 2y =4 4. x+y=4
p=a— 3 y=2x — 4
= . 2
EAR 2 s
g =l =] y = —1
37, 2=x<35 3. 2<y=:
b dx — Sy = =2
30. {" = . 40. {4" Sl
b = = -3
X >4 Y+y>3
41.{ "2 2.4
x+y<—1 r+yp<L -2
x+y>-—1 x+y>-2
; 2 . 2
45. {“ = =1 46. {) =
xr—y=-=1 x—y=2
2+ y- =16 2 2
47, {,x v 1 48, Xty =4
x+y>2 x+y>1
S B 2 2
9. Y ",)I 5. A1+,\1>1
Xy < 16 x5 Ty < 9
. {(x 12+ (y+ 1P <25
T la-P+ 1y =16
2 A v
52, {(x + l)ﬂ +(y -1y <16
(x+ 1P +(y—1)Y=4
53, {r & o {H Y <4
yp—x 20 y 220
58, {Xz +y2 <16 56 4y =16
y =2 R
x—y=12 Ix+y=6
57. x> *2 58‘ r > 72
y=3 y<4
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